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. DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO
T.B.C. : B-ABQA-N-NBU - Test Booklet Series

TEST BOOKLET
"ELEMENTARY MATHEMATICS

Time Allowed : Two Hours Maximum Marks : 100

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET. _ . )

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection. '

3.  You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

4,  This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

5.  You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

6.  All items carry equal marks.

7.  Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate. ‘

8.  After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet. -

9.  Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers : ‘

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a wrong answer
has been given by the candidate, one-third (0.33) of the marks assigned to that question will be
deducted as penalty.

(ii)  If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO
- o § ;e w1 Tl TR T g & fred I W R
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1.  What is the number of integral solutions of | 7.
the equations HCF (a,b) =5 and a+b=65? |,
(a) None :
(b) Infinitely many
{c) Lessthan 65
(d) Exactly one
2.  The difference of two consecutive cubes
(a) is odd or even
(b)  is never divisible by 2 8.
(¢} is always even
(d) None of the above
3. Let ab be positive integers. What is
b ,
HCF — 1to?
[HCF (a,b)’ HCF (a, b)) eqna 9.
(a)
(b) b
(e 1
a
@ HCF (a, b)
4. The product of four consecutive natural
numbers plus one is 10.
(a8) anon-square
(b) always sum of two square numbers
(¢) asquare
(d) None of the above
6.  For any integers ‘@’ and ‘b’ with HCF(a, b) = 1,
whatis HCF(a+b, a—-b) equal to ?
(a) Itis always 1
(b) Itisalways2
(¢} Either1lor?2
(@) None of the above 11.
6.  The expression 2x% + x2 — 2x = 1 is divisible
by :
(a) x+2
(b) 2x+1
(¢} x-2
(d) 2x-1
B-ABQA-N-NBU (2-A)

A positive number, when increased by 10,
equals 200 times its reciprocal. What is that
number ?

(a) 100

(b) 10 A ¢
() 20 '

(d) 200

x5 + 6x% + 11x + 6 is divisible by .
(a) (x+1)only

b) x+2)only

(¢}  (x+3)only

(d)  All of the above

The present age ,of Ravi’s father is four times
Ravi’s present age. Five years back he was
seven times as old as Ravi was at that time.
What is the present age of Ravi’s father ?

(a) 84 years

(b) 70 years

(¢) 40 years

(d) 35 years

The average age of male employees in a firm
is 52 years and that of female employees is
42 years. The mean age of all employees is
50 years. The percentage of male and female
employees are respectively

(a) 80% and 20%

(b) 20% and 80%

(¢) 50% and 50%

(d) 52% and 48%
156 men éomplete a work in 16 days. If 24 men

are employed, then the time required to
complete that work will be

(a) 7days
(b) 8days
(¢) 10days
(d) 12days
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12. A train takes 9 _seconds. to cross a pole. If the | 16.
speed of the train is 48 km/hr, the length of
the train is
(a) 150m
(b) 120m
{(¢) 90m
(d 80m
13. Ravi’s brother is 3 years elder to him. His
father was 28 years of age when his sister was | 17.
born while his mother was 26 years of age
when he was born. If his sister was 4 years of
age when his brother was born, the ages of
Ravi’s father and mother respectively when
his brother was born were :
(a) 32 years and 23 years
(b) 32 years and 29 years
(¢) 85 years and 29 years
(d) 35 years and 33 years
14. In solving a problem, one student makes a
mistake in the coefficient of the first degree | 18,
term and obtains -9 and -1 for the roots.
Another student makes a mistake in the
constant term of the equation and obtains
8 and 2 for the roots. The correct equation
 was
(8) x°+10x+9=0
(b) x°-10x+16=0
© x*-10x+9=0
(d) None of the above
15. If m and n are the roots of the equation 19.
ax> + bx + ¢ = 0, then the equation whose
roots are’ (m2_+ 1)/m and (n%+ 1)/n is '
(a) acx’+(ab+be)x+bZ+(a—c)?=0
(b) acx’+(ab-be)x+b%+(a-c)’=0
(c) acx2+(ab—bc)x+b2—(a—c)2=0
(@ acx’+(ab+bo)x+b?-(a-c)?=0
B-ABQA-N-NBU (4-A)
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The value of x° ~ 4x + 11 can never be less
than

(a 7
(b) 8
() 11
d 22

If [xz +iJ = %, then what is [x3 - i]

X2 x3
equal to ?
@ ;’—2
®) %
© f’-8§

(d) None of the above

If 3x*-2x®+3x°—2x+3
{3x + 2), then the remainder is

is divided by

(a) 0
®) %
(e) ~1-2§51
@ 2

What should be added to the expression
X (x + a) (x + 2a) (x + 3a) so that the sum may
be a perfect square ?

(a) 9a2
(b) 4a’
{¢c) at

(d) None of the above
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(5-A)

16.

17.

18.

19.

X2 — 4x + 11 & ?A, @ S s+ T8 |
AT ?

(a) 7
(by 8

(b)
(c)A —

@ STE A | FE T

e 3x*—2x% + 3x®-2x +3 W (3x + 2) G
o fora stran R, Y Swwe w1 R 2

@ 0
185

(b) o7
181

(C) —2'5—
3

(d) 1

mxkx;a)(xﬁ»za)(xma)ﬁwsﬁ@
A T el % dred w o @t @
Tk ?

(a) 9212
(b) 4a°

© at

@ IEH A g T

Download More Papers From GovtJobsAlert.In


Sunil Choudhary
  https://govtjobsalert.in/

https://govtjobsalert.in/

20. If the roots of the equation Ax? +Bx+C=0 24.
are -1 and 1, then which one of the following
is correct ?
(a) - A and C are both zero
(b) A and B are both positive
(¢} A and C are both negative
(d) A and C are of opposite sign
21. If A and B are any two non-empty subsets of a
set E, then what is A U (A N B) equal to ?
(a) ANB 25.
(b) AUB
) A
d B
22. Consider the | following in respect of the
' numbers \/5, %{ 6 :
| 1 §6 is the greatest number. 26,
2. 2 is the smallest number.
-Which of the above statements is/are correct ?
(a) lonly
(b) Zonly
(¢) Both1land2
(d) Neither 1 nor 2
23. A water pipe is cut into two pieces. The longer
piece is 70% of the length of the pipe. By how
much percentage is the longer piece longer | 27.
than the shorter piece ?
(a) 140%
& 2%
() 40%
(d) None of the above
B-ABQA-N-NBU (6-A)
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The sum of two positive numbers x and y is
2:5 times their difference. If the product of the
numbers is 84, then what is the sum of the

two numbers ?

(a) 26
) 2
(cj 22
@ 20

If n is a whole number greater than 1, then

nZ(m?-1)is always divisible by

(a) 12
(b) 24
() 48
d 60 B

If the roots of the equation:
(a? - be) x% + 2 (b - ac) x + (c® - ab) = 0 are
equal, where b # 0, then which one of the

following is correct ?
(a) a+b+c=abc

® a%+b%+c%=0

. (c) a3+b3+c3=0

d) ad+ b8+ c3 = 3abe ,

What is the remainder when 41%% is divided:
by 77

(@ 1

(b) 2

() 4

(d) None of the above
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A, B and C can do a piece of work individually

in 8, 12 and 15 days respectively. A and B

_start working, but A quits after working for

* 2 days. After this, C joins B till the completion

of work. In how many days will the work be

completed ?

(a) 5—3— days
(b) 4E days
7
() 6-—days

@ 32 days

Hx+y=5 y+z=10 and z +x =15, then

which one of the following is correct ?
(a) z>x>y
(b) z>y>x
() x>y>z

(d) x>z>y

On a 20% discount sale, an article costs
¥ 596. What was the original price of the

article ?

(a) T 720
(b) 735
() T 745
d =T 775

(8-

31.

32,

33.

34.

A)

What is the HCF of
8(xP-x%+x) and 288+ 1)?
(a) | 4xt-x%+ 1) |
B 26*-x*+ 1
© &*-x2+ 1).

{(d) None of the above

Two chairs and one table cost ¥ 700 and
1 chair and 2 tables cost T 800. If the cost of
m tables and m chairs is ¥ 30,000, then what
is m equal to ?

(a) 60
(b) 55
{c) 50

(d) 45

Consider the following statements :

1. Nointeger of the form 4k + 3, where k is
an integer,-can be expressed as the sum
. of two squares.

2. Square of an odd integer can be
expressed in the form 8k + 1, where k is
an integer.

Which of the above étatexﬁents is/are correct ?
(a) 1only

(b) 2only

(¢} Both1land2

(d) Neither 1 nor 2

For any integer n, what is
HCF (22n + 7, 33n + 10) equal to ?

(a)" n
(b)
c) 11

(d) None of the above
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(a) z>x>y
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(b) T 735
(© T 745
@ T 775
B-ABQA-N-NBU (9-A)
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35. In a fire range, 4 shooters are firing at their 39
respective targets. The first, the second, the |-
third and the fourth shooter hit the target |
once every 5, 6, 7s and 8 s respectively. If
all of them hit their target at 9: 00 am, when
will they hit their target together again ?

(a) 9:04 am
(b) 9:08 am
{¢) 9:14am
(d) None of the above

36. If A is a non-empty subset of a set E, then

whatis EU((AN¢)~(A-¢) equal to?

(@) A

(b) Complement of A 40.
) ¢

(d E

If A:B=2:3,B:C=5:7andC:D=3:10,
then what is A : D equal to ?

(a) 1:7

(b) 2:7

(¢ 1:5

d 5:1

38, Ifthe averége of A and B is 30, the avérage of
C and D is 20, then which of the following
is/are correct ?

1. The average of B and C must be greater -
than 25. » 41,

2. The average of A and D must be less
than 25,

Select the correct answer using the code given

below :

(a) 1 only

(b) Z2only

() Either1or2

(d) Neither 1 nor 2

B-ABQA-N-NBU (10-A)

Download More Papers From GovtJobsAlert.In

Out of 105 students taking an examination for

- English and Méthemati‘cs, 80 students pass in

English, 75 students pass in Mathematics and
10 students fail in both the subjects. How

many students pass in only one subject ?

(a) 26
() 30
() 35
@ 45

At what point of time after 3 o’clock, do the
hour-hand and the minute-hand of a clock

occur at right angles for the first time ?

(a) 9o’clock

{b) 4 hours 37% minutes
8 .
(¢) 3hours 301—1- minutes

(d) 3hours32 % minutes A

If 64 identical small spheres are made out of a
big sphere of diameter 8 cm, what is the

surface area of each small sphere ?

(a) -mem?

(b)  2n cm?
(¢) dncm?
(@ 8nem®
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(11-A)
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42.  AB and CD are two diameters of a circle of | 46.
radius r and they are mutually perpendicular.
What is the ratio of the area of the circle to
the area of the triangle ACD,?

n
(a) E
(b) =
n
e —_
(¢) 1
@ 2n 47.

43. A circle of radius 10 ¢m has an equilateral
triangle inscribed in it. The length of the
perpendicular drawn from the centre to any
side of the triangle is
(a) 253 em
(b) 53 em
(¢ 103 cm
(d) None of the above

48,

44. The dimensions of a field are 15 m by 12 m. A
pit 8 m long, 2:5 m wide and 2 m deep is dug
in one corner of the field and the earth
removed is evenly spread over the remaining
area of the field. The level of the field is raised
by . @

(a) 15¢m
(b) 20cm
{c) 25cm
200
d — .
(d) 9 49

45. The sides of a right-angled triangle are equal
to three consecutive numbers expressed in
centimeters. What can be the area of such a
triangle ?

(a) 6em?
®) 8em?
(¢ 10cm?
(d 12 cm?
B-ABQA-N-NBU (12-A)
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(d)

How many circular plates of diameter d can
be taken out of a square plate of side 2d with
minimum loss of material ?

(a} 8
b 8
) 4

2

The volume of a hollow cube is 216x>. The
surface area of the largest sphere which can
be enclosed in it is

- (a)”’ 181r>.(2
®  27nd
(¢ 36mx*
@  72mx*

What is the diameter of the largest circle
lying on the surface of a sphere of surface
area 616 square cm ?

(a) ld4cem
(b) 105cm
() Tem
(d) 35cm

What is the total area of three equilateral
triangles inscribed in a semicircle of radius
2em?

(a) 12em?

b 3B o2
4.

(c) 9—@ cm2
4

(@ 33 em?
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42,

43.

45.

B-ABQA-N-NBU
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AB 3t CD, r B 9 & 99 Q@ W §
WM I HP WS E T F RS F
£ ACD % 7% ¥ U F1 § 2

(a)

N A

(b)
(c)

&l A

d 2n

10 em o 9@ 99 8 U wwerg At € |
Fg @ P A et yon w @i T wE R
TS F1E ?

(a) 2543 em

(b) 543 cm

(¢ 10V3 cm

@ IIYE d A B &

waa i nd 5mx12mE I WF
FH W 8 m W, 25 m AET AR 2 m T T
Tew @ T B, o et g Bl 9w 4
W aEy Fe § T 2 1 & ) wag e
W7
{(a}) 15cm
(b) 20cm
(¢) 25cm

o -2%’@

et T fiyge it o §dnfier § =afm
& war gEETd 3 |39 Prge w1 gewa |/
B gl B ?

(a) 6cm?

(b) 8cm?
(c) 10 cm?
(d 12 cm?

(13-A)

46.

47.

48.

49.

24 4 AN TH FMHER W § 4 AW aeh

T Rl B 2
(a) 8
(b) 6
{c) 4
@ 2

T WEd T R AEEd 216x° 3 1 gEd
3@ witag e o1 e A gEEm AR W
gt 2A%A T 8 ?

(@) 18ax>

b 27m’

(&) 36mx>

d) 72mx°

616 & cm TE St TN UF T F §B W
T §EOH 99 1 A F1 ¢ ?

(a) l4cm

(b 105 cem

(¢ 7cm

(d) 35cm

T 2 em B A adgd d R W

Ay 1 FT AAEA 1@ ?
(a) 12cm?
(b) —3~£ em?
-4
(¢c) 2—‘[—5— cm2
4
(@ 343 em?
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50. In a trapezium, the two non-parallel sides are | 53.
equal in length, each being of 5 units. The
parallel sides are at a distance of 3 units
apart. If the smaller side of the parallel sides
is of length 2 units, then the sum of the
diagonals of the trapezium is
(@) 105 units
(b) 65 units
(©)  5J5 units

54.
(@ 3v5 units

51. The shadow of a tower standing on a level
plane is found to be 50 m longer when the
Sun’s elevation is 30° than when it is 60°.
What is the height of the tower ?

(a8) 25m

() 25/3m

. 55.
25

(¢) —=—=m
NE)

d 30m

52. The angle of elevation of the top of a tower
30 m high from the foot of another tower in
the same plane is 60° and the angle of | 56.
elevation of the top of the second tower from
the foot of the first tower is 30°. The distance
between the two towers is m times the height
of the shorter tower. What is m equal to ?

@@ 2 '
® 3
1
() '5
1
d =
(d) 3
B-ABQA-N-NBU (14-A)
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(c)

If COS X + sec X = 2, then what is

cos” x + sec” x equal to, where n is a positive
integer ?

(a) 2

b 2°°2
(c) gn - 1
@ 2"

What is sin 25° sin 35° sec 65° sec 55° equal
to? '

(a) -1
by O
1
(c) E
@ 1

The value of cos 25° — sin 25° is
(a) positive but less than 1

{b) positive but greater thén 1

- (c)  negative

(d 0.

In a right-angled triangle ABC, right-angied
at B, if cos A = %, then what is sin C equal

to?
3
(a) '5
4
b —
(b) 5
3
_4
2
(d z
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F 50. @Wﬁ,ﬁmgmﬁwm@ﬁ 53. AR cosx +secx =2, A cos" x + sec” x
# 3 T 5 35E T 2 | FARR I W forers 9o9 8, 98 n W Ui B 2
dswH g mi I REw A R o) o,
Yo 2 3 well 3, A THE™ & fawon @ ,
et e & 2 ® 27"
(@) 10V5 3HTS © 2"}
' (b) 645 HT @ 2°
© 5J5 TS :
@ 3J5 5@ 54. sin 25° sin 35° sec 65° sec 55° fohT® T 2 ?
(a) -1
51. woaw W @ Haw R o, g F I 300 by 0
BN W, I BT 50 m et & A G BT AT @ L
60° B T 3 | A A & F=S fohet B 2 -
(a) 25m ‘ (d)_ 1
(b) 25/3m
o B | 186.  cos 25° — sin 25° T WM faAT 2 2
s (@) oA fg 1 A A
@ %om (b) T g 1 @ Tl
| () RIHH
52. TF 30 m S ¥R % YWY &1 3 guaw w @ 0

Tal deR & 9 | 39 FW 60° B AN gEd
HR ¥ ¥l o1 ggd At HAR % WG @ 39 _
CFm 3002 | A AR % o ) g B | 56 T T Buw ABC d, Tl B w wwRm
Fom B S m T 2 | A m e ged %,w%_cosA=§%,zﬁsincﬁs@ra=gw%?

o .

¢ (a) 3
(a) JE . 5'
b 3 4
by =
1 5

© =
2 3
1 (C) Z

(d) 3
2
(d) 5

B-ABQA-N-NBU . (15-A)
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57. If « and B are complementary angles, then
what is Jcos o cosec B - cos asinf equal to?
(a) secP
(b) cosa
{¢) sina
(d) —tanf
58. If 2cot0 =3, then whatis - 250~Siné
2 c0s 6 +sin0
equal to ?
2
(a) —
3
1
b el
(b} 3
1
(c) 5
3
d 2
(d) 2
59. Ifsin6cos6= % then what is sin® 0 + cos® 8
equal to ?
(a)
by 2
() 3
1
d =
4
60. If sec 6 + tan 6 = 2, what is the value of
sec @ ?
: 3
(a) —2-
b V2
-
(C) —2‘
5
d -
( 4
B-ABQA-N-NBU

61.

62.

63.

64.

(16-A)

'(C)

What is .
cosec (75° + @) — sec (15° - 0)
—tan (55° + 0) + cot (35° - ©)

equal to ?
@@ -1
by 0
(e} 1

3
(d) 3

If sin@+2cos6=1, where 0<6< —;E, then

what is 2 sin 6 —cos 6 equal to ?
(ay ~1

1
(b) )
2

d 1

If tan 86 = cot 260, where 0 < 86 < g then -

what is the value of tan 56 ?

(a) %
b 1
© V3
(d o

A square is inscribed in a circle of diameter 2a
and another square is circumscribing the
circle. The difference between the areas of the
outer and inner squares is :

(@) a’ . '
(b) 2a

(¢) 3a°

@) 4a* i
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57. R o 3 p T B E, A

61.
\Joos o cosec B — cos o sin B forass ﬂ@% ?
(a) secB
(b) cosa
(¢) sino
(d -—tanp
—_sinb
58. R 2cot0=3 %,Fﬁ M—-
! 2'cos 6 +sin0
TR 62.
2
@ 3
1
b fud
(b) 3
1
(c) . —2‘
3
(d) y
59. AR sin Ocos 6 = «;- %, A sin® 0 + cos® 9| 63
foros gea R 2
(@) 1
() 2
) 3
1
d) 1
60. AR secO+tanB=2 B, A sec® H AH R
27 .+ |64
3
(a) E
® V2
5
(e *2"
5
. {d) "
B-ABQA-N-NBU (17-A)

cosec (75° + 0) — sec (15° — 8)
—tan (55° + 9) + cot (35° - @)

s g R 2
(a) -1
(b) O
e 1
. 3
(d) | 3

Ife sin6+2cos6=1, & Q<G<%_,?ﬁ
2 sin 0 —cos B ﬁ?aﬁ?ﬁ%?

(&) -1

(b}

(c)
(d)

I tan 80 = cot 20 8, FEl 0'<se<g, i

tan 50 T HF FT 2 ?

(a) ;}—5
b 1
© 3

@ o

24 SITH I fopedl g1 # ww oF@a @ 3N gEu
T4 % oftr @i @ | el o sfiql 9 %

Aawa! & d sia AT R 2

{a) a’

(b) 2a°
(c) 3%
(d 4a?
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65. 69.
is 721 em?. The length of the corresponding
arc of the sector is :
(a) =nem
(b)) 2nem
(¢ 3ncm
(d) 4ncem
66. A cone of radius r cm and height h em is
divided into two parts by drawing a plane
through the middle point of its height and
parallel to the base. What is the ratio of the
volume of the original cone to the volume of | 70.
the smaller cone ?
(a) 4:1 )
by 8:1
© 2:1
(& 6:1
67. Which one of the following is a Pythagorean
triple in which one side differs from the | 71.
‘ hypotenuse by two units ?
(a) (2n+1, 4n, 2n% + 2n)
(b) (2n, 4n, n%+1)
(© (2n% 2n, 2n+1)
(d (@n, n®-1,n%+1 -
where n is a positive real number.
68. A cube has each edge 2 cm and a cuboid is
1 ¢cm long, 2 em wide and 3 cm high. The
paint in a certain container is sufficient to
paint an area equal to 54 cm>. 72
- Which one of the following is correct ? ,
(a)  Both cube and cuboid can be painted
(b)  Only cube can be painted
(¢)  Only cuboid can be painted
(d) Neither cube nor cuboid can be painted
B-ABQA-N-NBU (18-A).
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The area of a sector of a circle of radius 36 em

ABC is a triangle right-angled at A where
AB = 6 cm and AC = 8 cm.’ Semicircles are
drawn (outside the triangle) on AB, AC and
BC as diameters which enclose areas x, y and
z square units respectively. What isx + y — z
equal to ?

(a) 48cm®

(b) 32cm?

) O

(d) None of the above

The three sides of a triangle are 15, 25 and
x units. Which one of the following is correct ?

(a) 10<x<40
(b) 10<x<40
(¢) 10<x<40
(d) " 10 <x <40

Two light rods AB = a + b, CD = a — b are
symmetrically lying on a horizontal plane.
There are kept intact by two strings AC and
BD. The perpendicular distance between the-
rods is ‘a’. The length of AC is given by

(a) a

(b) b

(c) a? —p2

(d) \/32 +b?

Let PQRS be a rectangle such
PQ = V3 QR. What is £ PRS equal to ?°

(a) 60°

that

(b 45°
(c) 30°

d) 15°
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65. 36 cm P90 % 99 & T fsame w1 8% | g9,
72ﬂcm2%|3nﬁ?a-@3%éﬂaa’mﬁa'aé
g2 ‘

(a) mem
(b) 2nem
(e) 3mem’
(d) 4ncm _

66. Wrcmﬁﬁéhcm%?@ﬁ,m
S & T fomg ® TORd i SMER & FHIA
7@ & g 2 gt # fnfoa fer e R 1 q@
% F AT F, OR TF & AEG § FE
TR 7 70.
(a) 4:1
(b) 8:1
© 2:1
@ 6:1

67. A ¥ we-a o, gz B R
iy, siaQ L afma e
{(a) (2n+1, 4n, 2n2+2n) 71.
(b). (2n, 4n, n%+1)

(c) (2n2, Zn; 2n + 1)
@ @n, n®-1, n®+1)
W&l n YT AvEdfeh e R |
68. U © <hl Jods B 2 cm B 3R Th eI
THI YTHSTF 1 cm &1, 2 cm ST 3 3 cm
S e R ) us UE H IaT @ U S 54 em®
AHA Y U2 FA 2g IIIH B |
Frefafge € @ S-a1 o 98 R 7
(a) maﬁtmﬁﬁmwwaﬁrﬁz 72.
T §
®) Faet oA U & g%t @
© %A TERIOEG W P U B
Tl B
@ @ W R T f e FEW
YIHAF 4T B Hhdl B
B-ABQA-N-NBU (19-A)
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.Ammﬁéﬁgaﬁc%,aﬁmﬁcm

M AC=8cm 2 | (FR[@ % a1&) AB, AC 3R
BC =W o aidge @9 91 8, I A x, ¥
s ot T ¥ dved TREg F@ 8
x+y-z%ﬂ%§a%?

(a) "
(b)
(c)

(d)

48 cm2
32 cm2
0

I o | g

foreht B At 7 Yol 15, 25 3 x 361 A
e i e srm @ o § 2

(a)
(b)
(c)
(d)

10 <x <40
10 <x <40
10<x <40 -
10 < x <40

e A W D g TS AB = a + b,

CD = a - b wwfiaa: @@l § 1 § § AC 3R BD
Yogmah ¥ s s aagh a2 |

ar AC Y @ig forafi R 2
(a) a

(b)

(c) a2 —b?

(d)

. \jaz +b?

A iy PQRS T 3 B, 3@ YR T
PQ=V3QR 21 ~PRS fpush qe 2 2

(a} 60° - '

(b) 45°

{¢) 30°

@ 15°
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78. The area of a rectangle lies between 40 cm? | 76.
and 45 em?. If one of the sides is 5 cm, then its
diagonal lies between
(a) 8cmand10cm
(b} 9cmand1lcm

1.

(¢) 10cmand 12cm
(d) 1l.cm and 13 cm

74. A cylinder is surmounted by a cone at one
end, a hemisphere at the other end. The
common radius is 3-5 cm, the height of the
cylinder-is 6-6 cm and the total height of the
structure is 12'8 ecm. The volume V of the
structure lies between 78,
(@) 370 cm® and 380 em®
(b) 880 cm® and 390 em®
(© 390 cm® and 400 cm®
(d) None of the above

75. In atriangle ABC, AB = BC = CA. The ratio of 79
the radius of the circumcircle to that of the
incircle is
@ 2:1
(b) 3:1
(e} 3:2
(d}  None of the above

B-ABQA-N-NBU (20-A)

If sin(A+ B)=1, where 0 <B < 45° then
what is cos (A — B) equal to ?

(a) sin2B

(b) sinB

(c) cos2B
(d) cosB

For a plot of land of 100 m x 80 m, the level is
to be raised by spreading the earth from a
stack of a rectangular base 10 m x 8 m with
vertical section being a trapezium of height
2 m. The top of the stack is 8 m x 5m. By
how many centimeters can the level be
raised ?

(a}) 3em
(b) 25cm
() 2cm
(d 15cm

AB is a straight line; C and D are points on
the same side of AB such that AC is
perpendicular to AB and DB is perpendicular
to AB. Let AD and BC meet at E.

What is AE + BE equal to ?

AD BC
(a) 2
(b) 15
© 1

{(d) None of the above

Consider an equilateral triangle of a side of
unit length. A new equilatéral triangle is
formed by joining the mid-points of the first
one, then a third equilateral triangle is
formed by joining the mid-points of the
second. The process is continued. The sum
perimeter of all triangles thus formed is

(a) 2 units

(b) 3 units

() 6 units

(d) Infinity
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73.

74.

75.

B-ABQA-N-NBU
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.U IAIT FT ST 40 em? AN 45 em? F &9

2 13 sponsti § ¥ ©F YE 5 om B, A WA
ol o = R 2

(@) 8cm 310 cem
() 9em3d1lem
(¢) 10cm 3R 12cem

(d 11 cm3MW13cm

TF I F T AR W g o g AR w
Aefiien w1 gan (Sediica) & | wafs s
3-5cm,a'€1=[7=ﬁbﬁl§ 65 cm@?@ﬁmﬁ
T S 128 cm B | §H TEAT B AT
viEs dat e

(@) 370 cmd 30T 380 em?

(b) 380 cm® 3 390 cm®

" (¢) 390 em® 3 400 cm®

@ ITYEH A B T

s ABC ®, AB = BC = CA 2 | 9Rgd i
o o siadT A B § sgue w R 2

(@ 2:1

by 3:1

() 8:2

@ I ° | g 7

76. IR sin(A+B)=1, W& 0<B<45% Q.

77.

78.

79.

{21-A)

cos (A —B) ﬁﬂﬁﬁﬂw% ?
(a) sin2B

(b) sinB

() cos2B

(d) cosB

EUE 100 m x 80 m % TS Pl 3B % [ Th
TR U fwE adt 1} F MR
HAAHT 10 m x 8 m & RH Feahr e
2mmﬂm%|%{ﬂﬁﬁé8mx5m
? 1@ yaw fpad St Fan Sern s wwA
27 .

(a) 3em

Mb) 25cm

(¢) 2cm

(@) ‘1-5cm

TH WS @ AB R AB % T & W% farg C
A D WA ¥ % AB W AC ©® R 3 AB W
DB @ 2 | 79 ifse % AD 3t BC, E W

e i@ A2 LBE ey gm0

AD' BC
(a) 2
by 15
(c) 1
@ 39dw R ¥ FE T -

sé o A W T wE g w

fyar $ifw | ™ T FmER e T %
mea-famgadt @ e fififa R, @w dfen o
e, R ¥ wea-fogatt @ free fiffa 2
gq uiskar &1 91 W 9 @ | 59 s ffifa
oft Sl 1 ufeTg e @ R 2

(a) 23HT

(b) 33FE

(c) 63HE

@ I

Download More Papers From GovtJobsAlert.In



https://govtjobsalert.in/

80. Let ABCD be a parallelogram. Let P, Q, R, S | 83.
be the mid-points of sides AB, BC, CD, DA
-respectively.  Consider  the  following
statements : '
1.  Area of triangle APS < Area of triangle
DSR if BD < AC.
2.  Area of triangle ABC = 4 (Area of
triangle BPQ).
Select the correct answer using the code given
below :
. 84,
(a) 1lonly
(b) 2only
() Both1land?2
" (d) Neither 1 nor 2
81. AB and CD are two chords of a circle meeting
externally at P. Then which of the following
is/are correct ?
1. PAxPD=PCxPB. | 85.
2.  Triangles PAC and PDB are similar.
Select the correct answer using the code given
below :
(a) 1lonly
(b} 2only
(¢) Bothland2
(d) Neither 1 nor 2
82. Consider the following statements :
1. Let ABCD be a parallelogram which is
not a rectangle.
Then 2 (AB? + BC?) = AC® + BD?
2. If ABCD is a rhombus with AB = 4 cm, | gg
then AC? + BD? = n® for some positive
integer n.
Which of thé above statements is/are correct ?
(a) 1lomly
(b) 2only
(¢) Bothland2
(d) Neither 1 nor 2
B-ABQA-N-NBU (22-A)
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ABC is triangle right-angled at B. If
AB = 6 cm and BC = 8 em, then what is the

length of the circum-radius of the triangle
ABC?

(a) 10cm
(b) 7cm
() 6cm.
(d 5cem

If AD is the internal angular bisector of
triangle ABC with AB =3 cm and AC=1cm,
then what is BD : BC equal to ?

(a 1:3
(b) 1:4
() 2:3
(d 3:4

_The sides of a triangle are in geometric

progression with common ratio r < 1. If the
triangle is a right-angled triangle, then r? is

given by

o JE; 1
) 52‘ -
© {5; 1
@ ‘/5; L

Ina tfiangle ABC, AD is perpendicular to BC
and BE is perpendicular to AC. Which one of
the following is correct ?

(a) CExCB = CAxCD

(b)) CExCA = CDxCB
(¢) ADxBD = AE xBE
(d) ABxAC = ADxBE
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80. T €T B ABCD & Wi S & | W

81.

82,

B-ABQA-N-NBU

#ifse AB, BC, CD, DA Wsweil & wea-fag
U P, Q, R, S# | freafafias wori m fmm

i

1. 9 APS 1 &%a < BYS DSR ®
§7%d, At BD < AC.

2. & ABC %1 2mwd = 4 (fyw BPQ &1
SERT N

:ﬁﬁﬁqm@aﬂmwr@mgﬁq

(a) FaA 1

(b) Faer 2

¢ 13 2gH

() TA1IIMAD 2

T ga #t g frand AB R CD IR P W
et € 1 Fafafed § @ h-aA wd 378 2
1. PAxPD=PCxPB.

2. P pAC o PDB @n®y § |

,:ﬁ%ﬁqnqymmmaﬁmgﬁq

(a) ¥ 1

(b) HaT2

(c) 132

@ Ta1made

frfafea st o faar i

1. mvﬁﬁqwcnqmma@a%sﬁ
I T8 2
al 2 (AB? + BC? = AC? + BD?

2. AR ABCD UH umagys @ foow
AB = 4 e, @ AC? + BD? = n°, ot =
quiis n % o |

meﬁéaﬁqwéﬁ'é‘%/%?

(a) Fad 1

(b) FHaA2

© 13 2gH

(d Aat1RAH2

83. ﬁgmABc,Bqtm% Hﬂ%.AB:e;m

1 84.

85.

86.

(23-A)

3T BC = 8 em, @ Y ABC ﬁqﬁ-ﬁwaﬁr
s foheedl 8 2

(a) 10cm

(b) 7em

(c) 6em

(d b5em.

Ifg By ABC #1 Tt Hiviig fgHss AD B
firi AB = 3 om 3 AC = 1 em, @ BD : BC
forae qea 8 2

(a) 1:8

(b)) 1:4

(c) 2:3
d 3:4 |
T Fgs 1 o TR Aoh d, e e
r<1ﬁ%|aﬁﬁ*§mwﬁwﬁaa%aﬁ 2

TR ?

&

(a) 1

&
—

(b

&.
;™
[uwy

{c)

&

(d 7

ﬁgaABcﬁ,ADéa%chi,aﬁtBEéa%‘

' Acm,:ﬁr_a%%ﬁﬁﬁﬁq-m@ﬁa'é%?

(a) CExCB = CAxCD
(b) CExCA = CDxCB -
(c) . ADxBD = AE xBE

(d) ABxAC = ADxBE
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87.
. such that BE : EC = m :

88.

89.

90.

B-ABQA-N-NBU
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ABCD is a parallelogram. E is a point on BC
n. If AE and DB
intersect in ¥, then what is the ratio of the
area of triangle FEB to the area of triangle
AFD?

(a) m/h

()  (m/n)?

(c) (n/m)2

@ [mf(m+ )

If triangles ABC and DEF are similar such
that 2AB = DE and BC = 8 cm, then what is
EF equal to ?

(a) 16cm
(b) 12c¢m
(c) 10cem
(d) 8cm

A rectangle of maximum area is drawn inside
a circle of diameter 5 cm., What is the

maximum area of such a rectangle ?

(a) 25 em?
() 125 cm?

c) 12 cm2

(d) None of the above

A drainage tile is a cylindrical shell 21 ¢m

_ long. The inside and outside diameters are

4-5 cm and 5-1 ¢m respectively. What is the
volume of the clay required for the tile ?

(a) 696n cubic cm
(b) 676z cubic cm
(¢} 576n cubi;: cm
(d) None of the above

91.

92,

93.

94.

(24-A)

The diameter of the base of a cone is 6 cm,
altitude .is 4 c¢cm. What is the approximate
curved surface area of the cone ?

(a) . 45 square cm
(b) 47 square cm
(¢) 49 square cm
(d) 51 square cm

What is the area of the larger segment of a
circle formed by a chord of length 5 cm
subtending an angle of 90° at the centre ?

(a) 4 (-g— o 1) em?

4

25(n 9
(b) 4(5—1]‘cm.
© g[%+1J cm?

4 2

(d) None of t}_l.e above

Consider the following in respect of the
variate which takes values 2,2,2,7,7,2,7, 7
1.  The median is equal to mean.

2.  The mode is both 2 and 7.

Which of the above statements is/are correct ?
(a) 1lonly »
(b) 2only

(¢} Bothland2

(d) Neither 1 nor 2

Consider the following statements pertaining
to a frequency polygon of a frequency
distribution of a continuous variable with
seven class intervals of equal width : .

1. The original frequency distribution can be
reconstructed from the frequency polygon.

2. The frequency polygon touches the x-axis
in its extreme right and extreme left.

Which of the above statements is/are correct ?
(a) 1only '
(b) 2only

{(¢c) Bothland2

(d) Neither1 nor 2
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ABCD U% @A =gH™ 2 | BC W fog E ¥
2fF BE:EC=m:n? | 3 ARG DB, F W
yfrede w1 €, @ BYS FEB % @9%a &
19 AFD ¥ 896 | &1 3IE B ?

(a) m/n-

b  (m/n)®

(c) (n/m)2

@  [mfm+n)?

7R fs< ABC 3 DEF &%y UE & f5
9AB = DE 31T BC = 8 cm, @ EF fre qoa
272

(a) 16cm

(b) 12em

{¢) 10cm

(d} 8cm

5mmaﬁ.@§ﬁﬁaﬁmmm
@m@ﬁmm%l@mwaﬁzﬁn
STFA TR ?

(a) 25cm?®

(b) 125 cm?

© 12 ¢m?

@ 39§ | FE T

21 cm T N Th FAHE GURA SAHTHR
T % AR 4 § | 3F% il st sed =
m;4-5cmaﬂi5-1cmﬁlﬁﬁa%ﬁm
Ty et fird) =1 s <= g 2

(a) 69679 cm

(b) '6-767:Wcm'

(¢) 576n¥d cm

@ 94w d ¥ o

91.

92.

93.

94,

B-ABQA-N-NBU

(25-A) .

U WP b SMUR KT A 6cm & N FaA

4em? | m@aﬁaﬁmaﬁqﬁamw
%9

(a) 453 cm

(b) 479 cm

(c) 49T em -

(d 51T cm

mms)o*’mﬁwmﬁamgé 5om
s < Sfig gR §9 T g9 % GHW §@S
T ATFA T8 2 '

(a) 25(2+1j ?'
(b) §(E—IJ em?

(c). —d [iﬁ + 1) em?

1. mfﬁm,m%w%l
© Sgerh 2 7 A1 R
mmﬁﬁﬁqm@%ﬁ@%"
(a) *Hdd 1
(k) a2
© 132 dei :
(d Tar1Mmade
waﬁzﬁ%ﬁmaﬁm%@mm
$ IRIRGT 97 A TH WHERdl sgqd |
gefig Fefofan wuat w fmm Ao
1. SRERE RS ¥ | SRend W
et b S we 2.1
2.  FRATET -G B IqF TE A
A =g w1d W eaE Hom |

3wyl A R 9 3R 2

(a) Shad 1

(b) Fad 2

(¢ 13 2gA
(@ FdR1MID2
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98,

Consider the 'following :

1. The arithmetic mean of two unequal
positive numbers is always greater than
their geometric mean.

2. The geometric mean of two unequal
positive numbers is always greater than
their harmonic mean.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2 only

(¢) Bothland2
(d) Neither 1 nor 2

Consider the following statements in respect
of a discrete set of numbers :

1. The arithmetic mean uses all the data and

is always uniquely defined.

. 2. The median uses only one or two numbers

95. The mean of the following distribution is 18. -
Class interval | Frequency
11-13 3
13~ 15 , 6
15 - 17 9
17-19 | 13
1921 f
21-23 5
23-256 4
What is the value of £ ?
(a) 8
b)) 9
(¢) 10 99.
(d) 11
96.- Which of the following items of information is
a good example of statistical data ?
(a) A table of logarithms of numbers
(b) Alist of names of 120 students of a class
(¢)  Alist of annual incomes of the members
of a club ,
(d) Holiday list of the offices of Government
of India in the year 2013
97. The following 'table gives ‘Tless than’ type | 100.
frequency distribution of income per day :
Income (¥) Number
less than of persons
-1500 100 T
1250 80
1000 70
750 55
500 - 32
250 12
What is the modal class ?
(a) 250-500
(b) 500-750
(¢) 750 -1000
{@) None of the above
B-ABQA-N-NBU (26-A)

from the data and may not be unique.

Which of the above statements is/are correct ?

(a) 1lonly -
(b) 2only '

() Bothland?2

(d) Neither 1 nor 2

The geometric mean of (x,, x5, X3, ... X,) i8 X
and the geometric mean of (yy, yo, ¥3, .. ¥5) i8
Y. Which of the following is/are correct ?

1.  The geometric mean of

(le].’ X9¥9, X3¥gs +» Xnyn) is XY.

2.  The geometric mean of

{l‘li‘_&ﬁ &]135
Y1 Y3 Y3 ¥n Y

Select the correct answer using the code given
below : '

(a) 1lonly

(b) 2only s
(¢) Bothland2

(d) Neither 1 nor 2
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95. fraffgq s s aew 188 98.
ol el THETET
11-13 3
13-15 6
15 - 17 9
17 -19 - 13
19-21 £
21 - 28 5
23 - 25 4
fRIAFA TR ?
_(a) 8
b 9 99.
(¢ 10
@ 11 A
9. frafafiga & @ FR-H gur =1 mg wiferda
FHS! HT ITHT IR E 7
(a) HENA & AR 6 Tw el
Gy et en % 120 Bt & T H g
() Tl o & weE i arfie o i g
@ 9 2013 ¥ WA SR & FREA 6
gfeat & g
97. TrafaRee moft 3§ wfafes s 1 a4 @ =
| YER 1 IRER WA fmm g 100.
s g wa | sgfpal i
g (T) q&
1500 100
1250 80
1000 70
750 55
500 32
250 12
LESECUE S
(a) 250 - 500
() 500 - 750
() 750 - 1000
@ IgwHAPETE
B-ABQA-N-NBU (27-A)
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frefafes w fmm Hifve +

1. 3 31GUT U7 GEwsl % auiat Wied gRwm
37 Tl & iR Hie | oifi B @ |

2. 3 A Y9 TS HT UK 1T gHI
I GBI F gUeHF Ae T Al Ban # |

o Fol § @ B T A 0

(a) HISA 1

(b) HIA 2

@ 13Mogmi
(@ Ja1IRIS2

H@T&ﬁ%ﬁgﬁw%mﬁﬁw&f@a
Fol W famm Hifirg

1. GHRR W Q@ ATHS! H T FA B
aﬂtgﬁmaﬁwﬁu’fﬂa@m%l

9. WfSEm el ¥ ¥ had TH A Q
sl #1 YA Rt § o arfedta g
2 Gl |

I HYl O ¥ DI/ TR 28 2
(a) oI 1

(b) FHIA 2

© 1323

d TE13MaAF2

(%1, X9, Xg, ... Xp) %T'ﬂ“ﬁﬁ'{ e X g AR
5y Yo Yoo - ¥y) B MR AEA YR} A
it # @ SRR TR 2 -

1. (x1¥1, Xo¥9, X3Y3, - Xp¥p) Bl T’ﬁﬂ( ey
XY 2

¥y ¥y Y5 Vn

2
ﬁmm@mmma@mgﬁq
(a) *ae 1
(b) a2
(c)‘laﬂtzﬁﬁ
@ TR1IMAE 2
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YRIFER Ut

79T ; 7 v : qortes : 100

W

uﬁmm@ﬁ%wm,mwuﬁwsﬁwﬁmmmﬁ%maﬁﬁﬁmm

- WFET T LT §IT U8 JHerdl UV, A A @Y | afig v g, ﬁg@aﬁuﬁmgﬁm%maﬁﬁm |

FoN s @ % OMR swwa #, i wom w, ﬁawaﬁtwﬁamgﬁanwgm

WE) A, B, C T D I, ta= & va famn foeedt 5= a1 vt % Wt o

sufrgar #i g | Tt st g <t o /et a‘rﬁfﬁtﬁﬁmmﬁmmﬁmml

3] g yitas W @y 7 fou 70 Fisesw ® Rl STl

srgeuiss forg B | wlte gt w s Fo T fod

8 g gfemm # 100 e (w9A) g e 1 v wAr R i oRreht aFi F oW R 1 v

AW § 91 WG (3W) fiu m %aﬁﬁqmu@mﬁ‘g{é @ oy SO W sifRa wE

ms%‘%‘mﬁmaﬁ@aﬁ%@ frr SegeR W &, O 99 Yo 1 e B ) TE waran

ahmm%%qmwﬁmwé
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ot g % aNH § | :

TR wEd o oy wltem e % fafte Sl & eI STEE W SAfhd T TE H, A6 @9

mw%mﬂﬁauj&aﬁ%mgﬁfﬁmmmﬁéﬁ%l

A9 I Teft H IFIEH § WA F 91 a1 whE F O | FIe Iov-gAF Adigs

WY | AR A F e i A ST b AR R

Fl I & T ueh qhierr Yierent % o § Here B |

T STk feegug:
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(i) IR S Iehican s A fow I 2@ R, @ 3@ TeA IW A 9w, FAf few Mo I A ¥ o IW
T B 2, f oft 3| e & fore sodwgem & s qe woavs R smem 1

(iii) afe Infigan g1 ¢ 9y & TEI e o 2, vulq Iofican g S A o S, @ @ o %
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